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(a) Explain the links between income and health, detailing
the epidemiological transitions. : (5)

(b) Explain the relationship between economic outcomes and
. school quality? (5)

(c) What is the Human Development Index aﬁd how is it
calculated? (5)
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Analyse the effects of income, price and health status
demand for health care by using appropriate diagram:
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(a) Describe the health care market situations where
government may intervene to improve- efficie:
Mention the relevant efficiency improving po_lic_:;_gs'

show how they improve efficiency. =l

(b) In the case of market failure related to merit goods
which role of the Government, giving information or

giving direction, do you prefer and why? (5)
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4. (a) Explain the Cost Effectiveness Analysis used in
evaluating healthcare projects. (6)

(b) An influenza inoculatidn"program is being contemplated
by the department of public health. Vaccinations would
be administered to 100,000 persons aged 65 and older
the next year by public health nurses in existing clinics
and health centers. It is estimated that vaccination cost
$3 a piece (medications marginal labour costs and so
forth). The inoculations are expected to prevent 1000
cases of influenza this year and to result in 50 adverse
reactions requiring treatment. The Average Cost of
treatment of influenza is $50 and for the adverse
reactions, it is $300. The discount rate for converting
money and health effects to present value 5%.

Undertake a cost effective analysis based on the above
information. C))
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5. (a) With the help of diagrams and equations explain the
following statement: “The feedback of prevalence on
demand for 0;11‘6 means that the elasticity of demand
for care may be much higher than the estimate if
prevalence is fixed”. (5)

(b) What according to Deaton and Dreze (2009) are ‘thc
reasons for the paradox of rising per capita consumption
expenditure and a fall in per capita calorie intake in
India? (10)
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(a) Explain employer discrimination of male and female
workers under the personal prejudice model of labour

market discrimination. (7)

(b) ‘An employer seeking to hire workers is never
cc;mpletely sure of actual productivity of the applicant
and in many cases the employer may remain unsure
long after an employee is hired’. What implications does
this have for hiring decisions and labour market

outcomes? (8)
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(a) Explain the cob web model of labour market adjustment
What happens to the error in adjustment when agents
follow ‘adaptive expectations instead of myopic
expectations? (&)

(b) ‘Education and training investment by workers. the
expgcted returns are in the form of higher f1,1ture
¢arnings, increased job satisfactiﬂon,over their lifetime
and greater appreciation of non market éc'ti'\?‘ities,
and interests.” In the light of this statement, c'xp_'lain.‘
the basic model of human capital investment énﬁ its

predictions. P : (10) .
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(a) Examine the role of the private sector in the spread of
school education in India. (8)

(b) Detail the publi¢ education initiatives taken by the
government to increase school attendance and improving
learning outcomes. : @)
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(4) The marks of each guestion are written:
alongside the questions.
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(5) The use of non-programmable calculators
is permitted. 4
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(6) Answers may be written either in Eng
or Hindi but the same medium should bé
followed throughout the paper.
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What do you understand by the term Economi
Development ? List the structural charactq'
of developing countries. Do you t
developing countries can be studied
homogenous group in this context ? Expla
answer.
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2. (a)
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The number of people living on less than
one dollar per day in a given country f.e.
the ‘poor’) can be calculated using the
country’s per capital income expressed in
dollars either at the market exchange rate
or purchasing power exchange rate. Which
of the two conversion methods would result
in a bigger set of ‘poor’ people ? Explain
why ? 8
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Assume that there are three relative
income categories : less than half the world
average income, between half and twice the
world average income and more than twice
the world average income. Describe
mobility matrices for the period 1990-2020,
consistent with the following :
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All countries converge to some commeo
level of income by 2020. :

(1)
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(ii) In 2020 no country stays in the same
category from which it Started
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3. E i
xplain the concept of ‘convergence’ in the
context of the Solow growth model. How ig
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. The economy of Lorenzgini has 10 people and 2

sectors (traditional and modern). In 1990 three
people live in the modern sector, earning $2000
per month. The rest live in the traditional
sector, earning $1000 per month. In 2000 two
people move out of the traditional sector into
the modern sector, though per capita incomes
within each sector remain unchanged during

the 1990s.
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(a) Graph the Lorenz curves for 1990 and 2000.
3

1990 37X 2000 % @ dR==1 g% 919 |

(b) Calculate the Gini coefficient and
coefficient of variation of the income
distributions in 1990 and 2000. B
1990 &k 2000 ¥ &1y faer & [y %
Rl weriss ol fafgear omes &t o w57
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(c) Discuss what the different inequality
measures (i.e. from the Lorenz curve, the
Gini coefficient, and the coefficient of
variation) indicate, regarding the change
of inequality between 1990 and 2000. If they

do not provide similar answers, explain why.
2
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(a) Comment on Sen’s view of poverty as
capability deprivation. 7.5
T B HHA TG AT B A= @ i §
feaqett i |

(b) Elaborate on the link between corruption

and development. : 78

TR AR e & §ig ey 5 e 3
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“Inequality does not follow a deterministic
process ..... there are powerful forces pushing
alternately in the direction of rising or
shrinking inequality.” Comment on this

statement by Piketty and Saez. 15
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Conventional polities like government
regulation or privatization often fail to provide
a solution to governing common property
resources. Discuss some alternative strategies
that can provide a solution to this problem ?
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8.

India and China have made rapid progress over
the past three decades, yet certain structural
bottlenecks need to be removed if these

. countries expect to keep growing unhindered.

Discuss this assertion, discussing the
structural weaknesses faced by these
countries. 15
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PART ‘A’
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Explain how the Ricardian model works and how it illustrates
the principle of comparative advantage ? Also demonstrate
the gains from trade and refute the common fallacies about
international trade. (7+4+4)
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@) Trade benefits the factor specific to the export sector
of each country but hurts the factor specific to the
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import-competing sectors, with ambiguous effects on
mobile factors. Explain the statement using Specific
Factors model with suitable diagrams. 9)

(i) Economic growth is just as likely to worsen a country’s

terms of trade as it is to improve them. Why do most
economists regard immiserizing growth, where growth
actually hurts the growing country, as unlikely in

practice ? 6)
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(i) Distinguish Horizontal foreign direct investment

from Vertical foreign direct investment. The nature

of FDI flows among advanced economies is largely

P.T.0.
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IV’
Horizontal in nature and those from the advanced
to the developing economies are vertical in nature.

Explain these two kinds of FDI flows in the real
world. )

The argument for deviating from free trade rests on
domestic market failures. Elaborate. (6)

TR wew R R ¥ e e R R A
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A small country can import a good at a world price of
10 per unit. The domestic supply curve of the good
is:

S =20+ 10P
The demand curve is:
D = 400 - 5P

In addition, each unit of production yields a marginal
social benefit of 10.
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(a) Calculate the total effect on welfare of a tariff
of 5 per unit levied on imports.

(b) Calculate the total effect of a production subsidy
of 5 per unit.

(c) What would be the optimal production subsidy ?
(3+3+2)

(ii) Under imperfect competition explain how government
intervention can shift the excess returns from foreign
to domestic firms using the Brander — Spencer
Analysis ? What are the problems associated with the

Brander — Spencer Analysis ? 7
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S =20+ 10P
D = 400 -5P
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5. (i) Discuss the role of external economies in shaping
comparative advantages and international trade pattern.
External economies may lead to disadvantageous
patterns of specialization and trade. Explain.  (10)

(i) Write short note on any one : 4)
(a) Gravity Model

(b) Leontief Paradox

(i) IO o U9 SHaUST SIUR WiET w SR o ¥ el
Taal B e o o W) TEd = RS T
MR & FAMHE AFN A e T owhS ) e
FHifor |
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PART ‘B’
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Central Bank of Japan is pursuing an expansionary
monetary policy. The expansion of money stock by
the Central Bank of Japan may be of temporary nature
and of permanent nature. In both these cases explain
the effects of expansion of money stock on real output
and exchange rate in Japan using a suitable model
where exchange rate is perfectly flexible and capital

is perfectly mobile. (10)

An investor in USA has an Euro deposit of 10000
Euros in a French bank which offers him an interest

rate of 8% per annum. (5)

(a) Calculate the expected dollar rate of return on
the deposit if Dollar-Euro exchange rate is
expected to move from 1.25 dollar per euro to

1.30 dollar per euro.

P.T.0.
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(b) Calculate the expected dollar-euro exchange
rate if the current dollar-euro exchange rate
is 1.25 dollar per euro and the expected
dollar rate of return on the deposit is 16% per

annum.

(i) STr = Hd I ReRe Aew A w7 s = @
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(i) 2v9T & ve frdws = 29 ¥ ¥ 10000 T G SR
¢ o 3% wivad 8% = =t femr 2
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7. () Discuss the problems faced by an economy in fadm ¢ | de srne aﬁ_a T T = o

achieving internal and external balance under the & T g 7 i

Bretton Woods System where exchange rate is 3

fixed. ) (if) e fafem X wraen & srmla R G Wae T T

TGS @aa wd B | R
(ii) A real depreciation of the Home currency may not

immediately improve the current account. Explain using

suitable diagram. (6)

(i) O g =men & sl HIRF T AT G W
ﬁ=anﬁamaaarEﬁ‘aﬂtinﬂaWZﬂTiﬁfammauaﬁ & e =X wef
s = faw 2

(i) NG =& = TR FEET Al &9 ¥ gdae
R L o R e — ¥ R
Cad '

8. () Describe the problem of bank failure and its
potential harmful consequences. What are the
Government safeguards to prevent the problem of bank
failure ? (8)

(i) Under fixed exchange rate regime there exists a threat
of Balance of Payment crisis and Capital Flight.
Discuss. _ (7)

(2700)
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as 4. 505 for M’odel A wmh four regressors and '8 456 for Model B wﬁh six
then Model B is preferred over Model A.

=
(¢)- Inthe Koyck model the mean lag = d 5 ) where A i is the rate of decay. 5><3 15

wﬁﬁ%wm%mmnmﬁwﬁgm!ﬁaﬁq

@ z::m mﬁmur (sxmultaneous equauon) Ttz T § 31fYeh 3 (endogenous) &
W W s ¥
®) kﬂa@mr@qwmmy xpmﬁOLSWﬁ
B 1 TF U ST (unbiased estimator) '@m 2

(@ T = 9 Hew v, = Bl+ﬁzx2,+33x3,+u ftﬂﬁzmm(romosmé
ST % o rﬁ = 1 3MTTLX2$X3‘T{ FT-IT%T!TUI E: | ﬁﬂf{m '{[UTH'T (coefficient
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e 1) T 3175
wm i B - gy R ¥ AR e @ ¢, RS (Mallow’s C,
criterion) T T TR T o1 Wew A ¥ 4,505 WA T ¥ 79 B = A
nTgah.%g’sASsm?rm%,?h#rsaAa?wémB@?fnw

Tl

aﬂ‘qm % Hisel (Koyck model) ﬁ m%a faem=m (mean lag) = g_M R A &

‘ ® W (rate of decay) %I

Conmder the two-vanable regressmn model Y; =By + ByXy; + u;. Let Y and X,

take: valucs given by the vectors : Y = (2 4 5, 6 8) and X2 (1, 2, 3, 4, 5). Using
 matrix algebra find B e g ' 5

Suppose the true model is Model A : Y; =B + ByXy; + ByXy; +

and the estimated model is Model B Y, ocl = (XQXZ, + v

(D) If X, and X, are correlated, show that &, is a blased estimator of f3,. What

‘is the speciﬁcation bias ?
(@) _From the folloWiJig results, find the value of the.spec‘iﬁcation bias due to omission

of a relevant variable. -

 Estimated Model A : ¥, = 624 + 526Xy, + 1042X,, R2 = 0.4126

Regression results of X3 on X, :

5 = 10.579 + 1.28X,,

R2 = 0.2851 F-statistic = 54.896 p-value of F-statistic = 0.0024. 5

PO

()

(@)

(6)

Consider the Keynesiai; model o

1_' ey

: Consu}npfior{z ﬁmm'on-:‘ =
_ Income zdentzty = Ct 4 Iw (—' z)

whereC consumption expendltme Y Income il mvestm,

S = savings; i Flme and_ i stochastxc dlsturbance temﬁ P'
cov(Y u,) # 0. o - HEE . : 5
a‘raﬁaré%@hmm IrTs?rY 61 +B2X2 + u; WWW'V'
WYHXZ%WWY-Q 45,6 S)ETX2~(1 2,3, 4, 5)ﬁ1‘311‘- |
W%lﬁ@waﬁwm(mammgebm)ﬁmﬁﬁﬁmml ‘
W?ﬁﬁqﬁﬁﬂﬁ%ﬂﬁ; ¥ [3,+Bzx2,+[33x3,+u%

Hmamﬁvmmsa Y—-a1+a2X2,+v b

0 X, T X, T (correlated) ¥ A TFhew by By @1 s
(bxased) C‘HTW %‘I oty ﬂﬁFﬁ (spec1ﬁcat10n blas) HE :

(i) ST Wﬁurrq’r ! WEEAl ¥ UE Wi (relevant vanable) & Eﬁ@
éﬁﬂaﬁaﬁﬁﬁﬁi‘maﬁﬁﬁrmmmﬁml

ST Hfed A % =624+ 526X + 1042x3, R2 = 04126
X; & X, W S e trﬁurrq
Xy = 10579 + 128X2

R2 = 02851 F‘Jﬁmirrr~54896 Fwﬁﬁ‘dﬁ Emptnw 10.0024.
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mﬁm%ﬁwmmmﬁfm
wﬁnw: C =By +BY, +u 0<p <1

Il

3 WA Y, = ¢, + I, (=S,
WET C =3 =, Y = T 1 = ﬁém (ST (exogenous) HFT T ¥):

S= aaﬁ t= Y99 A u = ﬂﬁﬁiﬁﬁ I T (stochastic dlsturbance term) gl

’ﬁqqa ﬁfaq % cov(Y, u) # 0.

The followmg' model»-has been estimated to study the relationship between demand for

& automobiles and per capita income in six states of India over a period of 15 years :

AUTO, = By + B,PCY,, + u,

Serr:

' where AUTO demand for automobﬂes and PCY = per capita income.

()  Explain how the leed Effect Wlthm-Gmup (WG) method can be applied to the

above model. Show that in the process of estimation, the fixed effect gets eliminated

while the cross-section specific intercept can still be obtained.

(i) Rewrite the model using the Fixed Effect LSDV method and expiajn how the method

allows for heterogeneity among the states, - ' _ 7
éuppo‘se thel desired»output (YV*) depénds on -labour (L) and capital (K) inputs :
Y,; = ocK!.3 Lfe"f
ti) Show How the stock adjustmént hypothesis regarding Y,' can be ﬁsed to transform

the model into an autoregressive model. Write down the transformed model.

P.T.O.

.6
(i) From the results given below wherc LY = ln(outplrt) LK '

LL = In(labour) what is the esnmated coefﬁcment of ad_]ushnent ?H
mterpret it ?

l‘;-c

(7ii) Write the short-run and long-run elasticity of output wath respect to capltal and

labour from the short-nm estimates given below :

Dependent variable : LY

Method : Least Sq'uares 1

Observations 1965-2014 ' - S e ‘ .
| Coefficient Std. Error tratio . p-_ﬁqlue

Const 3.56151 0664343 | 53610 |  <0.00001

LK 0.474168 0.100199 47322 | 0.00002

LL 0.519496 l 0.0979573 | 53033 <0.00001

LY 1 0.0167434 0028531 | 0.5869 0.56017

Mean dependent var | 16.93096 S.D. dependent var | 1.392859 :

Sum squared resid -3.344742 S.E. of regression - 0.2"69651

R-squared 0.964815 Adjusted R-squa;ed‘ | 0.962521 ‘

FG, 46) 4204638 | P-value (F) 1.99-33 : !

Log-likelihood -3.331088 ‘Akaike ettion {4.66218 ; !

Schwarz criterion: | 2231027 | | Hannan-Quimn 17.57461

Rho | 0.020167 .Durbin-Wats‘on' : 1.943521 | .-

v

by




(8 .
%
'_ ) ﬁmﬁi@anﬁmﬁ%mmmwmw
v (7)) : 3175 A LY = In(3AE), LK ln(t{rrﬁ)amLL ln(sm)?m' '
‘(a),lwé’srmﬁﬁ1'saﬁ"aﬁmﬁxﬁmﬁﬁﬁqhauﬁrwﬁam' e owmm st 2
%qu—qmawaﬂ%%gﬁvrmamaﬁmm (m)ﬁ%ﬁqnqawmﬁmﬁﬁam%m&rw
TR _ (short-run) g Sreehrei (long-run) &g ﬁiﬁ'ﬂlll i

" Dependent variable : LY ; B _ T
AUTO,, ;31 + B,PCY,, + _ ! _ v _
: Method : Least Squares
‘ T"ﬁ AUTO = et " ﬁh H’QT PCY = }fﬁ 'dqﬁa W[ Observations 1965-2014‘
(= ETI'QEH q’f@a % fer gyme (Fixed Effects) F’{@-#—W (Wlthm -Group, WG) Coefficient | Std Error | t-ratio p-value ‘
‘ fafy =1 fo y=R @ s fr o g AT | TIieY fo smmeher Const 356151 |0 0664343 5.3610 <0.00001 [ 1
® uﬁm | f@n T faga & W § rrrqﬁ SIIIT-FTE THEII (cross- LK 0474168 | 0.100199 - 47322 0.00002
section units) a‘? A TS (mtercept) e ot g t?f?rl LL -0.519496 | 0.0979573 5.3033 £ <0.00001
- ijﬁ ttew F ReR WA Lspy fify ® waE @ FiifE =i LY 1 0.0167434 “0.028531 - 0.5869 0.560i7 o
a4 f69 7R T4 fafy ﬁ T B Aey ﬁﬁfﬂﬁ[ (heterogenelty) i TTWSET o ALY
Feee Mean dependent var 16.93096 S.D. dependent var 1.392859
7 : Sum squared resid 3.344742 S.E. of regression 0.269651
() T o AR (desired) I (v, 7 (1) _‘I@ﬁ'\(K) S Y e R-squared 0.964815 | Adjusted R-squared 6.96#521
EME FQ, 46) 4204638 l?-vaiue ® | 1993
Y, = okf et Log-likelihood | =3.331088 | | Akaike criterion " 14.66218 |
e . Y, 9§ R T W (stock adjustment model) 1 Schwarz eriterion | 22.31027 Hannai-Quinn 17.57461 |
T qu——— THR T e B @wmd ates Rho 0.020167 Durbin-Watson 1.943521
(autoregressive model) # wuraf@ fFa ST g R} ®U=Ra Aiead #

1%11‘@11

P.T.O.
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Usmgtheméthod _o'f';OLS, population densny ina countxy (POP) is regressed on total

© 7 valueof output of ma.nufactunng sector in'that country (Q, in mxlIlons) for 60 countrics

R for the year 2015-16. In order to test for heteroscedasncny, the squared OLS residuals

i are regressed on the explanatory vanable

i )

{7,

.'-51+62Q,+v

If the estuna‘ted value of R2 is 0. 7426 for this auxnhary regression, conduct
.;'Breusch-Pagan (BP) test. Use 5% level of 51gmﬁcance Do you find evxdence ol

i Vheteroscedastnclty ? State null and alternate hypothemselea.rly e ' 5

. In the regresswn model y= Bo i le +u, suppose cov(x u) - 0 If z 1s an mstrumenlal

|

o vanable for x; denve the mstmmental vanable (IV) esm::lator of Bl Show that this estimator

~ isconsistent, ‘ & 5

A researchet-con'duets a sfudy where level of activity in. the parallel economy (Y, in

'mllllon dollars) is regressed on index of tax burden (TAX) and government expendnure

to discourage parallel economy (EXP in mllhon dollars) for 33 developed countries and

33 developmg countries for the year 2013-14

T = Gy, & or,ZTAX,. * aSEXP- + o

The researcher runsa pooled regresswn and also runs regressmns separately for the two

subsamples of developed and developmg coumnes Based on the regressmn results, you

PO

-are given the f0110w1ng information. Use this information to perform the Chow test. CJ

(10 )

1% level of sxgmﬁcance ‘Would you choose the pooled regression: ? '

OLS using Pooled OLS for developed OLS for deve]oplng il
dato N = 66) countries (N = 33) | - co_unlﬁes N =.33_)..A.
Bss | RS e + i
RSS L W s
TSS | ouseso il o — L
RE 06 ,l 2z | 08 ‘ —

(@

o5
oLs fafy = wemmr § 60 ST ¥ = 2015-16 ¥ W B wHEN T
(POP)@EH&QI%WW(QW’?)%?‘?W%W%W‘

Tsfaa fean s &1 - fawma (heteroscedastlcuy) =t Sif9 ¥ OLS srafrsi
D 'ﬁ’ﬁ S AR =T (explanatory variable) W Tsifad fpar wmar '%

i =8y + 8)Q; + v,

WWWWW%@WWWW 0.7426, aﬁqw—ﬁm%nﬁm
(Breusch-Paga.n test) W1 B | 5% Wrefear WX (level of significance) 1 wim
aﬁﬁqnwmm—ﬁwmmﬁqﬁm% ? sﬁa%&quﬁmmaﬁ
H W fafag)




(o) wHEEAW Wed y = By + Byx + u H AW wfSC fAm cov(x u)# 01 AT z x
%ﬂ@mﬁ'ﬁii’{(mstmmental vanable)% ??IBI%WWW (IV estimator)

©

(1)

Ll W it | @TTSE 5 o sTHaw W (consistent) ¥1

w\@aﬁmmm%ﬁaﬁsﬂ‘aﬁméﬁﬁmﬁaﬁ%@
,aﬁ2013-1'4%§wmaﬁamﬁﬂﬁiﬁﬂr%w(Y,fqﬁfq-—r‘sﬂatﬁ)
,@m'qn%zﬁm(mxm-mamwﬁmﬁam%g

wH = (Exp, fifee <fer #) W wwafe fR S ¥

: Y, = oy + aTAX; + ogEXP; +

ﬁwmmm@ooled)wmm%amﬁmaﬁmm@aﬁ
#wWe’gw—wmwﬁw%u T o @
\mmmmﬁmﬁf@aw%ﬂ?%‘lﬁmﬁﬁmam
-,mvﬁwﬁﬁmmmﬁmwme@nﬁmlwmmwm

37

&l A 2 .
OLS (N = 66) o;s‘ N = 9;3) OLS (N = 33)
ESS Sl 12196 =
RSS | | — s - 3415
88 18660 ) — —
R? 0.6 0.8 —
P.TO.

5.

(@) A researcher conducted a study on determinants’ of health expenditure (HE)

®)

states in India. She considered three regressors-percentage of population suffermg from E

some illness (POP), number of hospitals in the state (HO) and 1itéracy-rate of the state A

(12)

/

(LR). The data was collected for ten years for the seven states included in theffs‘ﬁ_x_cll'y;

®

@)

(i)

Explain how-the researcher can use the panel data to estirr]ate apooled OLS regression:

model. What is a major problem in using this estimation procedure ? :

Suppose'the‘researéher also estimates a Fixed Effect LSDV model. If R2 of the -

pooled regression and the FELSDV models are 0. 567 and 0 886 respectlvely, speclfy

the null hypothe51s and conduct an appropnate test to choose between. the two

models. Use 5% level of sngmﬁcance.

Suppose the researcher also estimates the 'Rahdohx Effects ~Model The Hausman
test statistic gives an estlmated ch1-square value of 15. 66 w1th three degrees of .
“freedom. State the null hypotheses for the test Which model should the researcher»

choose for her research ? Use 5% level of s1gn1ﬁcance . %

Let the true population regression be :

N otk B o

‘Suppose Y is not directly observable The observed values; Y dlﬁ‘er from the actual :

values, Y asfollows

Yi=Y +g
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- where g; denotes the measurement error in Y; .

: ()  Write the estimable model and show that the OLS estimators ¢ and  are unbiased

(a) .

estimators.
() What is the variance of the estimated slope coefficient ? Will it be the same
~ as.in the case if there are no errors of measurement ? Explain by comparing the

variances. : i - ; 7

T Al A o & W § e o @ free o s

foar =@ T‘ﬁT‘F Wm (regressors) T fa=mR ﬁ?ﬂ'l-—%'\cﬁ' =Yy § T SHEE

EIRIRG] (POP), T mt—ﬁﬁ & (HO) 991 T H TR <X (LR) |

- o2 s § uftfew ww T ¥ 10 o g TR R M

' '(0 e e W ¥ (panel) StFE Ht m‘ﬂw{%ﬁ OLS TS

_ Tied | e F TRl §, FHARY| T IH WA F ST
#w ‘a@ﬁ oy ?
(i) -ma"tﬁ?-m T fER T (Fixed effect) LSDV HfEwt 1 +ft sTeher
wm b aR Tfi WHAT § FELSDV Hee B R2 HUU: 0.567 T
0.886 %, a‘s@am_mﬁﬁm@wamuﬁ
¥ T FO N TH IR T BT 5% TR TR BT I
sl s |

PTO.

o SRR W ¥ e e RS = (3 wfet &
Y chi-square) T W 15.66 ¥1 Th&0 H g uﬁmmml 3

ﬁm%mmﬁmmwmﬁg?s%mﬁmm
w1 I F 3 : |
() wH <ifsw fw e gyt HHISAY (Population regression)  :

Y =a+BX,; tu

&1 W A ) e e w6 ¢ o et =y, e w6
Y, ¥ f=1 yR wefeg § ‘ .

v
st *
Yf s X’; ,+ eir

& e, Y, § A 'a’ﬁi'(Measurement error) ¥

() ST ASH (estimable model) ) fafiau agr aﬁsq fF OLS 3Ther

6 9 B SR eTees ¥

@i Wmmm‘mﬁww%_? am%amawmgm
var(ﬁ)wiﬁ‘@mﬁmmﬁﬁwjfeaﬁa-ﬂmﬁm ? e

H GO e GHIERT| -

i
i

i
;
i
1
]
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g 8

@ Wﬁmﬁﬁ%amﬁmaﬁm%nmﬁmﬁf@amww
HifTT

¢ A5 =) 3178
: : ‘ oy ‘ y=o+fr+u
6. (a) Consider the following relationship between the demand for health services and income 3

azty=mﬁmaﬁaﬁuhmx=mm'ﬁﬁﬁ$m%rw€w
T f @ s, a‘rﬁﬁ&mm@rmmﬁua% aﬁr@raﬁw
%mmmﬁigmummd)%u

of the consumer :

y=o+PBx+ou

i

m?ﬁﬁq%?ﬂwm%gaﬂmwmmmﬁwm%— ‘ "l.
5 ﬁ T (z) 7o U = ﬁn&n F 'R (z,) I

- where, y = demand for health services and x = money income of the consumer. It was

realized that health insurance which is correlated with money income has been omitted

- from the above model due to lack of data.

- , 6} xa}aﬁmm%ﬁkwqmzz%mﬂ%mﬁﬁmm
Suppose the researcher considers two alternative instrumental variables (IV) for income—

: : ST » (instrument exogenelty) 9.9 mﬁﬁm‘m (mstrument relevance) T#ﬁ F‘TETIE’QI
distance from the health centre (z;) and level of education of the consumer (25).

@ A RZ —020?MTR2 —osoﬁrmﬁwwaﬁﬁ 714’431133'

()  Explain instrument exogeneity and instrument relevance in using zyorz;asanlV

i) = vl ﬂ"ﬂih' (coefficient of determmatxon, R?) "’Jlﬁlﬁ = (IV) ﬁﬁ'{ e
!ﬁmémrﬁ%ﬁwﬁmsmﬁmﬁ ? R

for x.

@ If Riz[ ='0.20 and Ri,z = 0.80 which IV would you choose ? Explain.

: ‘ : . (b) GDP =t Jgfy ?R(RGDP)H el 99 RS F mz fewafta -
(##7) Is the coefficient of determination (R_Z) as useful in the instrumental variable (IV)

HHY (bilateral causality) F S F03 %g IR H W vmr:a e & wfr

| , mﬁlﬁn%avhﬁﬁmuﬁmﬁmﬁaﬁaaaagged)wamwm
(b) Describe in detail the test procedure to cohduct Granger causality test for investigating ¥ 9w ey W W g wR fivg S ?

method as it is in case of OLS estimation ? Explain. L 7

bilateral causality between GDP growth rate (RGDP) and gross savings rate (S). What

is the significance of the nurﬂber of légged terms included in the test and how will you

make a decision on this ? ol ' 8

P.T.O.
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Sosla) "Cpnsidef the following -fcgfession model of exbortb ofa couhtfy (Y, in billion dollars)
< “on trend 'va'riablg b

Y, =By + Byt + By + .

- The model was éstimated for 40 years .usin'g OLS and the results obtained are as follows.

. (t-ratios are given in parentheses) :

Il

CBY, =873 + 0057 + 0.000872°

@ = (123) (9% (562 R =057

(7)) Israte of growth of ekports constant over time ? Explain.

@) ’In' order to‘te‘st' for model Speciﬁcation. error, the inodel is re-estimated with
‘ 1;1—\712 and lﬁ? as adﬂiﬁonal fegxessors. This model exﬁlains 67% of variation
, i dgpe;xdent variable. Apply Raxﬁsi:y’s RESET test. Use 5% level of significance.
| State the null ﬁﬂd éltemativé 'hypothcses clearly. Do you find evidence of model

A :
specification error ? ] » s ’ 5

®) For the k—variablé‘-linear.regre‘ssidn njliogel‘ iy =XB+ u

OR Wl‘it; the métﬁx for.r-nulation of 4the_ ANOVA table.l
(#)  Assuming that u; are normally distributed, write the F test statistic for the null hypothesis
that By = B3 = ... = B, = 0 using matrix notation. 5

B0

/

(18 ) 3175

(¢) Consider the following regression model :
Marks; = Bl‘ # B,D; + B3ATT,. + B4(D,‘Aﬁi) + y ‘
where  Marks = total ma.rl;{s'obta.inedvby a student in“ semester-end examination :
D =1, if student spends more than 1 hour a day on social media '
= 0 otherwise
ATT = total number of cIé.sses attended-in the semester

Using cross-section data on 150 students, the regression results are obtained as follows

(p-values ar‘c‘reported in parentheses) : -
Marks; = 20.45 — 1.25D; + 0.265ATT; - O.OS(DIA’rTi)
@) = (024) (0.001) (0.0065) (0.256)
(i) Write the ;egres;ion gquations for the two categories of studgnts 'éeparately.

(if)  Using the reported p-values and 1% level of significance, comment on individual
statistical significance of estimated f3, and B4 ? Are the regréssion equations for

the two categories of studénts ‘coincident’ regressions ? Why/why not ? . 5

(a) qaa%ma%ﬁaﬁ'ﬁ(Y,ﬁﬁmg’fwﬁ)%uqﬁrat(uendvaﬁable):wﬁﬁ%mﬁ
FHEEY W fo=r wifau . ‘

Y, =By + Byt + B3 + u,
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& Marks = wﬁmﬁmﬁﬂmmvﬁmﬁm@w)

S | i :
(19) s ' B Wﬁmﬁmmwmlwam"'i
j fa?nar .
.--@'maﬁf%gOLsﬁm%mﬁﬁmnmmmm , ¥
- 0 s

--ﬁwm%(r— ﬁ%ﬁﬁfﬂm‘é)

AR ﬂ'ﬁ'{z‘{
_lan_= 8.73 + 0.057¢ + 000087 A ¥ wanel ) g s f‘aﬁﬁ fereneff mﬁsaa o,
150 'é@lllﬁ L BT:IHW (cross-sectlon) Sﬁﬁ 1 ERmT .a
P L

.. 0= (123) B8 (656 R2 = 0.57 '

‘ '["W@(pmﬁwﬁﬁqmﬁ)

L wﬁuﬁmﬁq{uum%mqu%7ml ‘ ; i

- . Marks; = 2045 — 125D, + & |
2 (u') Hied ’r‘aﬁ%fm ﬁﬁ! (model spec1ﬁcatmn error) <Al T Eh'l;"f %’@ In Y, ql | : ‘ £ 0'265ATT:' = 0~05(DiATT1) ' N
b e B e R T e F A RRdoity i

mﬁﬁﬂ%lqﬁmﬁ‘ﬁﬁﬁﬁm(vmanon)ﬂm%m%l

(0.001) (0.0005) % (0:256).~ -
(i) Wﬁﬁﬁ%@ﬁm—mm&wmﬁf@q
i ot

(if) ﬁ:qnqpmm%wéwwaﬁm@mms B ﬁwﬁmﬁ
| 2 4
mﬁmwﬁmﬁﬁﬁqlwﬁw&ﬁﬁaﬁm%@wwnﬁw
HEI'I?ﬁ (comc:dent) i W/qzh T_ 2

trq@(m RESET W&l (Ramsey’s RESET test) HITTT1 5% aeferdl TR
it | ¥ T e el e e | e
Hfew fafdym Ffe &y faed %2
) k=R T FEHEE HEd -y = XB +‘u%§ =
@ ANOVA ot &1 Ao ‘EEWI ‘(matr'ix formulation) @
¢y €W e Q;H;TIM(disn'ibution)W(normal) %, Y e
By= By = ....=Bk=o%§ﬁf4wmm‘tm% F-qlEo
it fafee) : 3175 _ : :
(c)ﬁm@ﬂmmmﬂﬁ'ﬂﬂm A. ' . - e

Marks; = Bl + BzDi + BATT; +-ﬁ4(DiATTi) + u; o e e o ”__;‘____“
' P.T.O.
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L -1 & Rem & oW Ry v MR = 5 s SRERIED
ferfew | _ :

2. AVETH R WA ® SREF R 2 WRT & D 73S W 15 3w
T WA @ & T NI 20 Hm R ¥

3. VNI ¥ Ueh WET 9U1 WRT @ ¥ B e v i )

4. T -V I S A1 BR 6 v i ¥ e, ey

SRl T AR T 8 B AR | B
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Section A (v =)

Why do capitalists generally dislike and oppose any attempt
made by the government to maintain full emplo?rment?
0 AR St HEA O A TR a7 f i =t Joiei
oEe FR SuE R = w7

How can class Istmggle' be viewed as a dialectical process?
Explain its relevance in Marx’s analysis of econf)mic and
social transformation.

Tt ol W o e WihAT S W Y S@T W W @ 7 e
AR arnforer wRade & W & Rwower ¥ et e

=W |

Explain ‘underconsumption crisis’. Does introduction of
investment demand alter the basic premise of the theory?

‘T -ITRT Fehe' TN | T FRw i @ ey @ = Raa
B ¥ AR ¥ GRedT B o ¥ 7

Section B (¥F T @)

Discuss the masking of functions of the political and
economic domains of capitalism. Why does Heilbroner
consider this concealment the most powerful of the ways
capitalism affects behaviour and belief?




2359 3

ToiaE & UeHiaE R e mEe 83 (domain) ® W W
& &t W (masking of functions) W ==l &Y | BTEEEAT WA
A © [ T8 W HEAT Joiare § EBR R URVT Y qea
T F W FAEEEN qde 8 7

“It is not the consciousness of people that determines their
existence, but their social existence that determines their
consciousness”. (Marx). Explain the statement. Does this
imply that human consciousness does not play a significant
role in transformation and progress of societies?

‘x5 AR B AT A 2 W I T PRy w2,
T & IR ARG SRAeT 3 S I Yo B PeiRa
317 () w@ o W W | w2 @
TR IR TR F AT AT R R oA e T 2 7

Explain the nature of imperialism in the phase of current
globalisation dominated by contemporary finance capital.
How does this differ from imperialism in Lenin’s time?
Analyse the consequences of globalization for the third

world.

T AR GOl o W 9 3REER S quA @ w3
THRAAE S TET D WEN | ART D wE D GENTERE ¥ T8
fre we = 27 AW R @ Ifiewr 2 aRumE s Bweo
& -

P.T.O.

e
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10.

Explain the terms “primitive accumulation” and
“accumulation by dispossession”. Discuss what role they
have played both in the historical evolution and the
contemporary phase of capitalism.

“Infen w=E” ik ﬂ%ﬁm‘mﬂiﬁu”aﬁimmﬁlgﬁmaeﬁ

ﬁ%ﬁ%ﬁﬁﬂﬁfﬁkaw%ammﬁ#amaﬁg#aﬂgﬁWtRaﬁ
] :

Discuss Schumpeter’s critique of the neo-classical
(Marshall-Wicksell) analysis of the capitalist system. How
does his concept of “creative destruction” alter the
understanding of capitalist dynamics?

DT Rt & - (efer - Frerer) et 8 e
am'wﬁhmﬂnﬁﬁiailTﬁmﬁiﬁﬁ%a%amﬂaﬁgmmﬂé%
TS B @ SmuRer ¥ e we wRae R @

Crisis is inevitable in a capitalist system. Government
Intervention can only postpone it”, Do you agree? Discuss.

“Qﬁmﬁuwﬁrﬁaﬁzaﬁéﬁ%w;mﬂﬂsaﬁqémaaﬁvﬁm
W WHA B 1" W H e B 7w

How does Paul Baran argue that the retrogressive tendencies

of monopoly capitalism are essentially intrinsic to the system
itself ?

ﬁﬁamwﬁm%mgmﬁaﬁ%%ﬁ?@mﬁmﬂﬁﬁma%uﬁmﬁam#
aET ¥ gt o & SRy ¥
(400)




